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Final Review:

Chapter 11
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1. Evaluate Y,1%,(2n — 4) —7’§ ( z4te )
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2. Brooklyn sells candy bars. She sells 10 candy bars the first day. Every day
after she sells 2 more than the previous day. What is the total number of

candy bars Brooklyn sells 20 school days?
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3. Afootball team has the ball on the opponents 9 yard line. If the other team
makes an infinite number of penalties so that the ball moves half the
distance to the goal every time, what is the total number of yards in

penalties the ball moves?
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4. Given the arithmetic sequence 4, 7, 10, ... find term closest to 400 but not
more than it. d:j qoo:(‘/ +Cn—|)3
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Chapter 10:

5. Given the equation y =ab
it?

what type of exponential model is

Use with 6,7, 8

Tim heats up a rock and puts it into a tub of wateratroom temperature. The
equation that models the temperature oftne rock as . secomes the same temp
as the water if modeled by: f(£) = 65 - 20(3) %4t wlicre f(t) is the temperature
of rock and t is the time in minutes, after pu
water and rock are both at room temperature again. The temperature is in
Fahrenheit

it inte'the water and until the

6. What is the initial temp of the rock? -, ,1(0)
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7. What is thg room water temperature?
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8. What is the temperature of the rock after 12 minutes? - ‘1 (’ &)
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9. When will the temperature of the rock be 72 degrees Fahrenheit? — .. 27\
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9. When will the temperature of the rock be 72 degrees Fahrenheit? - q (é )
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11. y = a(b)* how can you tell if this equation will be a growth or
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Chapter 9 rational functions:
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5. Explain why there is no real solution for each.
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6. Write and equation of a rational function with vertical asymptote x=3, a
horizontal asymptote of y = 2, and reflected over x axis.
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9. Suppose the number of goats a farmer can raise at his farm is modeled by
the following equation: - [6’
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Where (x) is the number trees on the land he owns. S \/;\ {

What is the number of goats the farmer can raise if he does not have any
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What is the maximum number of goats the farmer can raise?
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